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Grade 4 Math Worksheet: Addition (Difficulty Level: Advanced)

Name:
Date:

Part 1: Add the following 5-digit numbers

15,459 + 87,563 =
52,375 + 8,976 =

26,145 + 13,479 =
34,257 + 21,842 =
45,678 + 32,109 =

o=

Part 2: Add the following 6-digit numbers

1. 674,587 + 728,639 =
2. 397,294 + 766,865 =
3. 578,768 + 427,813 =
4. 867,437 + 785,982 =
5. 967,625 + 399,476 =
6. 267,847 + 789,135 =
7. 671,582 + 189,459 =
8. 999,103 + 884,576 =
9. 674,870 + 907,856 =
10.786,890 + 876,907 =

Part 3: Word Problems Set
Solve the following word problems:

1. A factory produced 456,789 items in the first half of the year and 567,890 items
in the second half. How many items did it produce in total over the entire year?
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. A city recorded 678,123 tourists visiting in the first quarter of the year and

789,456 tourists in the second quarter. What is the total number of tourists who

visited the city during these two quarters?

. Alibrary added 123,456 books in one expansion and 234,567 books in another

expansion. How many books were added to the library in total?

. A company earned a revenue of 345,678 rupees in one financial year and

456,789 rupees in the following year. What is the total revenue earned over these

two years?

. A farmer harvested 234,567 kilograms of wheat in one season and 345,678

kilograms of rice in another season. What is the total amount of wheat and rice

harvested?
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